
DW.22

20
7

10
2

O8_L

21
5

16
0

Hp= 15

O
3_

P

230

100

H
p=

 0

p.
 p

os
ze

rz
. 1

3 
cm

O15_P

14
5

16
0

Hp= 85

207

90

RS  

F

2%

2%

Z
M

Ø
 

13
0 

170 oś= 

Ø
 

13
0 

205 oś= 

Ø
 

13
0 

205 oś= 

Ø
 

13
0 

170 oś= 

OP.A

LOGGIA
3,10  m2

1. PRZEDPOKÓJ
5,02  m2

3. KUCHNIA
4,74  m2

4. ŁAZIENKA
4,24  m2

oś= 

2. POKÓJ
23,33  m2

(aneks sypialny ~9m2)

6_M-21 / B76
6 PIĘTRO

6_M-21

6_M-21

6_M-21

6_M-21

1. PRZEDPOKÓJ

2. POKÓJ

3. KUCHNIA

4. ŁAZIENKA

5,02

23,33

4,74

4,24

37,33 m²


